
英文法ドリル（中２） There is ̃ の文１

Name

(　)に　is, are, isn't, aren'tのうち適する語を書き、日本語に直しなさい。

① There (       ) a ball in the box

② There (       ) two apples on the table.

③ There (     ) a zoo in the town .

④ There (       ) many tables in that room.

⑤ There (       ) any boys under the tree.

⑥ How many books (        ) there on the desk?

⑦ (     ) there a pen on the desk?

No, there (        ).

次の文を過去形の文に直しなさい

① There is a piano in the room.

② There are many trees in the park.

③ There is a restaurant near here

There is~ の文１
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英文法ドリル（中２） There is ̃ の文１

解答

① There (  is ) a ball in the box

箱の中にボールが１個あります。

② There ( are ) two apples on the table.

テーブルの上にリンゴが２個あります。

③ There ( is ) a zoo in the town .

町に動物園があります。

④ There (  are ) many tables in that room.

あの部屋にはたくさんのテーブルがあります。

⑤ There ( aren't ) any boys under the tree. * any は肯定文では使わない

木の下に男の子は１人もいません。

⑥ How many books ( are ) there on the desk?

机の上に何冊の本がありますか。

⑦ ( Is ) there a pen on the desk?

No, there ( isn't ).

机の上にペンがありますか。　いいえ、ありません。

① There was a piano in the room.

② There were many trees in the park.

③ There was a restaurant near here.
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